Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2ycWidth (GeV

0.005

400

600

Channel Number

Pi0 Mass (lter

tion1)

yOO

000}
$300f
~~
YB00F
C L
OOk
o _F
Goof
1000F
800E

x10

600K

Entries 3.311786e+08
X2 / ndt.375e+04 / 165

Prob 0
po 1.067e+06
pl 0.1345
p2 0.008186
p3 4.396e+05
p4 0.01543
p5 -2.217e+07
p6 5.945e+06
p7 3.988e+05

0.06 008 01 012 014 016 018 0.2

2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

600
Channel Number

400



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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o/p vs. Iteration (E1, E2 > 500 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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